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Instructions:

1) All questions are compulsory.

i1) Question No. 1 to 4 are objective type question. Each question is allotted
5 marks.

11) Question No. 5 to 8 carry 2 marks each. Answer word limit is 30 words.
1v) Question No. 9 to 12 carry 3 marks each. Answer word limit is 75 words.
V) Question No. 13 to 17 carry 4 marks each. Answer limit is 120 words.
vi) Question No. 18 to 20 carry 5 marks each. Answer limit 1s 150 words.

vii)  Internal options are given in question no. 5 to 20.
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PrerffRr # & Wt SwR Slear Al TR gRT ¥ iR (5]
() We-gs gor BT TaTER B
(1) INGRESS (i) C
(in) HTML (iv) ORACLE
(@) W Bewe & SRR ¥ o fua e F gl ¥ wrr Weewd o RE
%7 famfor av v &
(i) STRING (i) STR
(iii) SPACE (iv) INSTR
() COM, DCOM 7 SQL ¥ g wawy Suge o &
(1) ODBC (1) DAO
(iii) RDO (ivy OLEDB
R TN TVNFRAICTITORIANEAR AT A B E
(i) CURSOR NOTOPEN  (ii) INVALID CURSOR
(iii) CURSOR NOT FOUND (iv) CURSOR NOT CREATED
®) 2aa & Gvw F WA ¥ g ST Fa &

(1) COMMIT (1) ALTER
(i1) CHANGE (iv) CREATE

Choose the correct alternative and write in your answer book.

(a)

(b)

©

The example of Front-End useris: a2zSUBJCTS.COM
(i) INGRESS () C
(i) HTML (iv) ORACLE

This function is used for producing a string with certain number of repeating
characters.

(i) STRING (1) STR
(i) SPACE (iv) INSTR
The suitable tool for COM, DCOM and SQL is:
(i) ODBC (i) DAO
(i) RDO (iv) OLEDB
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(d) The Error comes when we close A Cursor which is not OPEN.
(i) CURSOR NOT OPEN  (ii) IINIVAIH_.ID CURSOR
(ii) CURSOR NOT FOUND (iv) CURSOR NOT CREATED

(e) To change the structure of table we use:

(i) COMMIT (i) ALTER
(iii) CHANGE (iv) CREATE
frafafaa Rea wrEt # g e : [5]

(i) 2o ¥ fAUrERT &1 S9A ... dfed ¥ fFar mr #)
(i) T ATS[A B BIFA AH (P ........d |

(1) Redfew e o1 o9 Raffa &% v &)
(iv) 99 T I I4H ..o 37 TEY F NI Ui oI &

) J— for @ fAffa 7 duE B &)
Fill in the blanks.
(i) Table concept is used in........... model.

(ii) File name extension of class module is.........

(iv) True and False values are represented by ........... data type.

(v) ........... Trigger can also be created and stored.

W / 36 qTage: [5]
(i) RE= e & 30 W HeE & o7 A o 8

(i) 2T fire o7 Taee A $ ww fie far o waar #)

(iii) AT Fege H A Aus B Rl IS §)

(iv) %ROWTYPE & wqvf Reé # g & wndh &1
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(v) BULK COLLECT FoiTql % S9Nl ¥ 39 ¥2T PL/SQL & daa IRJaew #

I B

State Ture/False

(i) Value of derived attribute is determined by base attribute.

(1) Data Grid can be linked with embedded object.

iii) Five parameters are required for the connection object of open method.

(iv) %ROWTYPE is used to assign values to whole record.

(v) The BULK COLLECT clause is used to bring small quantity of data in to loca

PL/SQL vanable.
& SIS fremge-
3H
(i) wecIegs TRee
(i) TTEa BEE
(iii) ADODC
(iv) 99 wi®

(V) SFefeyAd §id

Match the following -
A
(1) Multivalued Attribute
(i) Library Function
(iii) ADODC
(iv) Sub block

(v) Unconditional branch

(a)
(b)
(c)
(d)
(e)
(f)

(a)
(b)
(c)
(d)
(e)
®

q

SR T
TNSNAMES
TS =P
e Ao
NULL
GOTO

B

Developer Company
TNSNAMES

Child block

Many values

NULL

GOTO
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RDBMS @1 87 9@ RDBMS fRew & wamx fafey| [2]

What is RDBMS? Write examples of main RDBMS system.
3¥Er/OR
DDL ®icH & a1 faflayg |

Write the function of DDL statements.

IRl /WA AR o e gRT WHeEy | (2]
Explain General/Sub procedure with syntax.
Iar/OR
ADO & R Hver aur S ver ¥ ooy fafay |
Write the difference between static cursor and dynamic cursor of ADO.
SQL #R{T &1 SR IETERT T iy | [2]
Write the use of SQL queries with example. |
a2zSUBJCTS.COM 3orar / OR
How can we drop procedure, function and package?
PL/SQL # R&1E &t f&w vor Rewar far o 87 Rew sy vy [2]

How record is declared in PIJSQL? Explain with syntax.

Fqa1/OR
ST TS B THIIFY |
Explain data encapsulation.
R STreRsw a1 aTs JTeiae Seess o §9aEy | 3]

Explain Reference datatype and Large Object datatypes.
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- J@/OR

PL/SQL % aRAew &t qfRkaifia == &7 arrg Rites o Sgsewr foray wmmgd |
Explain the general syntax and example to declare available in PL/SQL.
VB % FOR-NEXT &' fa=taw e Sarevvr g WHagg | [3]
Explain FOR-NEXT in VB with syntax and example.

[/OR
VB ¥ v& saE aRaf¥g IR & QF Fad & S|
Define a function in VB that adds any two number.
DBCombo @& DBLIST Y H#%EY | 31
Explain DBCombo and DBLIST.

eEi/OR
VB ¥ qea Rafiin gea &1 - fafae oo ft w0 @t wawmy |
Write the names of main debugging tools in VB and explain any one of them.
SQL % INSERT (g=€), UPDATE (sw@<) e DELETE (Refi) #+is wasigy | (3]

Explain INSERT, UPDATE and DELETE command in SQL.

F#9ai/OR
PL/SQL ¥ i€ nriioR & @ fafag |
Write the advantages of stored procedure in PL/SQL.
Wt fewfy fafeae: [4]
() <er wEfa | (i) yes SQL weieH
Write short notes on:
(i) Data Mining. (ii) Embedded SQL Statements.
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FAT/OR
wferer feoeft fafa:
(i) srled dfeew (i) BT/ Tirite
Write Short notes on:
(i) Hierarchical model. (i1)  Coding / Implementation.
MDIFr 8? VB & N 13 aiges B @ wHeEy | [4]

What is MDI? Explain parent and child form of VB.
Far/OR
VB ¥ ADO #Hi8 amssiae @ ADO Raré ¥ s a1 Ry it Wy
Explain ADO command object and ADO record set object with syntax in VB.
PL/SQL s # faer Jaww o1 <ifs a1y #? wwemv | [4]
How many sections or blocks are there in PL/SQL program construct? Explain.
F4a1/OR
'STAY FiFTT ACID &1 wIfdY | weemse |
"A Database transaction must be ACID". Explain.
PL/SQL % =pif& FOR LOOP &' Ri=aw T SameRYT gRT a3y | " [4]
Explain numeric FOR LOOP of PL/SQL with syntax and example.
3erar/OR
PL/SQL ¥ 3Riierf a1 #1 Rikew fraay wasnEy |
Write the syntax to create procedure in PL/SQL and explain it.
Weadpee e 17 demimise 21 @) wHEEy| [4]

Explain Replicated data and Reorganized data.
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F4I/OR

PL/SQL & difforper sifavey vd RgT sife¥er #) wwemey |

Explain the logical operator and string operator of PL/SQL.

18) FeMEe /| HEH G HYFET BT 701 AN [5]

19)

20)

Describe the client/server model of computing.
3a/OR
SDLC 741 87 Hwaneg |
What is SDLC? Explain.
VB & faf=1 31 R e sgiew 1 wwemey | [5)
Explain the various Data Report Designer controls of VB.
3ar/OR
ADO 221 #gI1d ERT 3RTA SIS 3 w7y |
Explain the Oracle connectivity through ADO Data Control.

vaﬁmﬁmmmmlwmwmmm
i I AT oY S AMwaw F 770 | (5]

Define function with syntax in VB. Write a function that accepts a value in

Fahrenheit and converts it in to Celsius.
FRET/OR

VB ¥ TR FSo ®EF § 4N 91 F 397 99> 2? wHEy)

What are different ways to exit an error handler routine in VB? Explain.

kiR dediokok



